ltem No.	Description	Bid	Unit	Advanced Paving		Kilgore		MDA Di	rt Worx	England Construction	
		Quantity		Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
BID SC	HEDULE "A" - ROADWAY IMPROVE	MENTS									
GENEF	RAL										
A1	Mobilization and SWPP Plan	1	LS	\$31,200.00	\$31,200.00	\$58,700.00	\$58,700.00	\$9,765.00	\$9,765.00	\$175,000.00	\$175,000.0
A2	Construction Layout	1	LS	\$20,000.00	\$20,000.00	\$30,500.00	\$30,500.00	\$10,450.00	\$10,450.00	\$7,500.00	\$7,500.0
A3	Pothole Existing Utilities	40	EA	\$220.00	\$8,800.00	\$750.00	\$30,000.00	\$715.00	\$28,600.00	\$475.00	\$19,000.0
DEMO	LITION										
A4	Demolition and Disposal of Existing Curb & Gutter and Subbase	125	LF	\$16.20	\$2,025.00	\$8.00	\$1,000.00	\$5.90	\$737.50	\$15.00	\$1,875.0
A5	Demolition and Disposal of Existing Concrete Sidewalk, ADA Ramps and Base	375	SF	\$5.40	\$2,025.00	\$4.00	\$1,500.00	\$2.96	\$1,110.00	\$3.50	\$1,312.5
A6	Clear and Grub the Entire Work Limits of Vegetation (Including Trees) and Remove Existing Chain Link Fence	1	LS	\$11,000.00	\$11,000.00	\$16,000.00	\$16,000.00	\$18,240.00	\$18,240.00	\$75,000.00	\$75,000.0
A7	Demolition and Disposal of Existing Asphalt	78000	SF	\$0.38	\$29,640.00	\$0.52	\$40,560.00	\$0.68	\$53,040.00	\$0.99	\$77,220.0
A8	Excavation and Off-Site Disposal of Excess Excavated Material	5300	CY	\$14.25	\$75,525.00	\$25.00	\$132,500.00	\$23.81	\$126,193.00	\$23.55	\$124,815.0
CULIN	ARY WATER										
A9	Remove and Replace Existing Fire Hydrant Assembly, Complete	1	LS	\$9,800.00	\$9,800.00	\$19,050.00	\$19,050.00	\$18,480.00	\$18,480.00	\$9,400.00	\$9,400.0
A10	Furnish and Install 12" Waterline Loop	2	EA	\$5,400.00	\$10,800.00	\$7,650.00	\$15,300.00	\$7,393.00	\$14,786.00	\$11,250.00	\$22,500.0
STORM	M DRAIN										
A11	Furnish and Install 15" Diameter NRCP Storm Drain Pipe	105	LF	\$70.00	\$7,350.00	\$140.00	\$14,700.00	\$135.58	\$14,235.90	\$130.00	\$13,650.0
A12	Furnish and Install Single Storm Drain Inlet Box	4	EA	\$4,850.00	\$19,400.00	\$4,000.00	\$16,000.00	\$3,454.00	\$13,816.00	\$7,700.00	\$30,800.0
A13	Furnish and Install Double Storm Drain Inlet Box	4	EA	\$9,500.00	\$38,000.00	\$6,000.00	\$24,000.00	\$5,102.00	\$20,408.00	\$8,100.00	\$32,400.0
A14	Furnish and Install 5' Diameter Storm Drain Manhole	1	LS	\$4,300.00	\$4,300.00	\$5,270.00	\$5,270.00	\$5,118.00	\$5,118.00	\$9,850.00	\$9,850.0

Page 1 of 6

Item	Description	Bid	Unit	Advanced Paving		Kilgore		MDA Dirt Worx		England Construction	
No.		Quantity		Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
ROADV	VAY / CONCRETE										
A15	Furnish and Install Import Roadway Fill (A-1a) Material	40	CY	\$46.00	\$1,840.00	\$34.00	\$1,360.00	\$32.60	\$1,304.00	\$92.00	\$3,680.00
A16	Furnish and Install Type "A" Curb & Gutter and Base	6350	LF	\$26.90	\$170,815.00	\$22.00	\$139,700.00	\$25.84	\$164,084.00	\$26.10	\$165,735.00
A17	Furnish and Install New 6" Concrete Sidewalk and Base	8000	SF	\$8.65	\$69,200.00	\$8.50	\$68,000.00	\$8.80	\$70,400.00	\$9.45	\$75,600.00
A18	Furnish and Install New 8" Concrete Approach and Base	220	SF	\$10.20	\$2,244.00	\$13.10	\$2,882.00	\$13.06	\$2,873.20	\$15.00	\$3,300.00
A19	Furnish and Install New ADA Truncated Dome Pads	6	EA	\$1,575.00	\$9,450.00	\$1,855.00	\$11,130.00	\$400.00	\$2,400.00	\$525.00	\$3,150.00
A20	Furnish and Install New 5" Asphalt Pavement and 10" Base	109000	SF	\$4.80	\$523,200.00	\$4.20	\$457,800.00	\$4.56	\$497,040.00	\$4.98	\$542,820.00
A21	Furnish and Install New 3" Asphalt Pavement and 6" Base (For Golf Cart Path Tie-in)	230	SF	\$7.60	\$1,748.00	\$20.00	\$4,600.00	\$20.08	\$4,618.40	\$19.88	\$4,572.40
A22	Furnish and Install 4" Thick Angular Cobble Slope Protection	85	CY	\$325.00	\$27,625.00	\$68.00	\$5,780.00	\$65.53	\$5,570.05	\$79.00	\$6,715.00
A23	Raise and Collar Existing Manholes	15	EA	\$1,285.00	\$19,275.00	\$725.00	\$10,875.00	\$2,353.00	\$35,295.00	\$795.00	\$11,925.00
A24	Raise and Collar Existing Water Valves and Monuments	11	EA	\$960.00	\$10,560.00	\$625.00	\$6,875.00	\$1,250.00	\$13,750.00	\$775.00	\$8,525.00
A25	Remove and Replace Existing Stop / Street Sign	2	EA	\$330.00	\$660.00	\$785.00	\$1,570.00	\$690.00	\$1,380.00	\$850.00	\$1,700.00
ELECT	RICAL / STREET LIGHTING										
A26	Furnish and Install 2" PVC Electrical Conduit	3200	LF	\$15.25	\$48,800.00	\$17.50	\$56,000.00	\$9.00	\$28,800.00	\$20.80	\$66,560.00
A27	Furnish and Install J Rated Boxes	11	EA	\$300.00	\$3,300.00	\$1,050.00	\$11,550.00	\$1,927.28	\$21,200.08	\$815.00	\$8,965.00
A28	Furnish and Install Street Lights and Base	10	EA	\$7,500.00	\$75,000.00	\$6,510.00	\$65,100.00	\$9,000.00	\$90,000.00	\$6,600.00	\$66,000.00
SUB TOTAL - BID SCHEDULE "A"			\$1,233,582.00		\$1,248,302.00		\$1,273,694.13		\$1,569,569.90		
		Unit Bid prices were inadverte Resulted in red	ntly swapped.			Contract Bid Pr favor of u					

Item	Description	Bid	ty Unit	Advanced Paving		Kilgore		MDA Dirt Worx		England Construction	
No.		Quantity		Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
BID SC	ID SCHEDULE "B" - TRAIL AND RETAINING WALL										
GENER	RAL										
B1	Mobilization and SWPP Plan	1	LS	\$1,650.00	\$1,650.00	\$7,500.00	\$7,500.00	\$4,883.00	\$4,883.00	\$5,250.00	\$5,250.00
B2	Construction Layout	1	LS	\$8,525.00	\$8,525.00	\$6,700.00	\$6,700.00	\$4,620.00	\$4,620.00	\$3,000.00	\$3,000.00
TRAIL	I RAIL										
B3	Furnish and Install New 3" Asphalt Pavement and 6" Base	26000	SF	\$3.50	\$91,000.00	\$3.10	\$80,600.00	\$3.44	\$89,440.00	\$3.78	\$98,280.00
B4	Furnish and Install New 12" Wide Crushed Concrete Edge	3100	LF	\$2.25	\$6,975.00	\$3.65	\$11,315.00	\$3.46	\$10,726.00	\$1.25	\$3,875.00
RETAI	NING WALL										
B5	Furnish and Install New Solid Concrete Block Retaining Wall, Complete	4600	SF	\$26.00	\$119,600.00	\$53.26	\$244,996.00	\$50.64	\$232,944.00	\$47.00	\$216,200.00
SUB TOTAL - BID SCHEDULE "B"			\$227,750.00		\$351,111.00		\$342,613.00		\$326,605.00		
4' >	4' x 2' x 2' Adjusted Price per square foot of wall			\$25.00		\$22.12		(\$22.12)		NB	
	Comments							Contract Bid Pr favor of u			

Item	Description	Bid	Unit	Broken Arrow		Granite		Condie	
No.		Quantity		Unit Price	Total	Unit Price	Total	Unit Price	Total
BID SCHEDULE "A" - ROADWAY IMPROVEMENTS									
GENERAL									
A1	Mobilization and SWPP Plan	1	LS	\$96,296.00	\$96,296.00	\$169,550.00	\$169,550.00	\$310,000.00	\$310,000.00
A2	Construction Layout	1	LS	\$9,600.00	\$9,600.00	\$14,867.25	\$14,867.25	\$56,725.00	\$56,725.00
A3	Pothole Existing Utilities	40	EA	\$814.00	\$32,560.00	\$1,165.00	\$46,600.00	\$655.00	\$26,200.00
DEMO	LITION								
A4	Demolition and Disposal of Existing Curb & Gutter and Subbase	125	LF	\$8.36	\$1,045.00	\$8.90	\$1,112.50	\$14.00	\$1,750.00
A5	Demolition and Disposal of Existing Concrete Sidewalk, ADA Ramps and Base	375	SF	\$4.70	\$1,762.50	\$2.55	\$956.25	\$3.50	\$1,312.50
A6	Clear and Grub the Entire Work Limits of Vegetation (Including Trees) and Remove Existing Chain Link Fence	1	LS	\$59,371.00	\$59,371.00	\$81,000.00	\$81,000.00	\$67,440.00	\$67,440.00
A7	Demolition and Disposal of Existing Asphalt	78000	SF	\$0.58	\$45,240.00	\$0.30	\$23,400.00	\$0.65	\$50,700.00
A8	Excavation and Off-Site Disposal of Excess Excavated Material	5300	CY	\$12.53	\$66,409.00	\$19.95	\$105,735.00	\$45.00	\$238,500.00
CULIN	ARY WATER								
A9	Remove and Replace Existing Fire Hydrant Assembly, Complete	1	LS	\$14,153.00	\$14,153.00	\$15,450.00	\$15,450.00	\$18,000.00	\$18,000.00
A10	Furnish and Install 12" Waterline Loop	2	EA	\$15,932.00	\$31,864.00	\$6,435.00	\$12,870.00	\$17,000.00	\$34,000.00
STOR	M DRAIN								
A11	Furnish and Install 15" Diameter NRCP Storm Drain Pipe	105	LF	\$105.00	\$11,025.00	\$158.50	\$16,642.50	\$359.00	\$37,695.00
A12	Furnish and Install Single Storm Drain Inlet Box	4	EA	\$5,250.22	\$21,000.88	\$6,075.00	\$24,300.00	\$5,600.00	\$22,400.00
A13	Furnish and Install Double Storm Drain Inlet Box	4	EA	\$8,043.00	\$32,172.00	\$7,800.00	\$31,200.00	\$9,500.00	\$38,000.00
A14	Furnish and Install 5' Diameter Storm Drain Manhole	1	LS	\$7,423.00	\$7,423.00	\$9,600.00	\$9,600.00	\$8,100.00	\$8,100.00

Item	Description	Bid	y Unit	Broken Arrow		Granite		Condie	
No.		Quantity		Unit Price	Total	Unit Price	Total	Unit Price	Total
ROAD	WAY / CONCRETE			1					
A15	Furnish and Install Import Roadway Fill (A-1a) Material	40	CY	\$25.23	\$1,009.20	\$93.25	\$3,730.00	\$100.00	\$4,000.00
A16	Furnish and Install Type "A" Curb & Gutter and Base	6350	LF	\$37.21	\$236,283.50	\$27.00	\$171,450.00	\$31.00	\$196,850.00
A17	Furnish and Install New 6" Concrete Sidewalk and Base	8000	SF	\$9.29	\$74,320.00	\$11.35	\$90,800.00	\$9.50	\$76,000.00
A18	Furnish and Install New 8" Concrete Approach and Base	220	SF	\$14.18	\$3,119.60	\$14.95	\$3,289.00	\$18.00	\$3,960.00
A19	Furnish and Install New ADA Truncated Dome Pads	6	EA	\$2,415.00	\$14,490.00	\$412.00	\$2,472.00	\$475.00	\$2,850.00
A20	Furnish and Install New 5" Asphalt Pavement and 10" Base	109000	SF	\$6.11	\$665,990.00	\$5.35	\$583,150.00	\$5.08	\$553,720.00
A21	Furnish and Install New 3" Asphalt Pavement and 6" Base (For Golf Cart Path Tie-in)	230	SF	\$10.60	\$2,438.00	\$26.85	\$6,175.50	\$23.00	\$5,290.00
A22	Furnish and Install 4" Thick Angular Cobble Slope Protection	85	CY	\$57.40	\$4,879.00	\$295.00	\$25,075.00	\$138.00	\$11,730.00
A23	Raise and Collar Existing Manholes	15	EA	\$960.00	\$14,400.00	\$1,400.00	\$21,000.00	\$1,785.00	\$26,775.00
A24	Raise and Collar Existing Water Valves and Monuments	11	EA	\$660.00	\$7,260.00	\$1,015.00	\$11,165.00	\$1,110.00	\$12,210.00
A25	Remove and Replace Existing Stop / Street Sign	2	EA	\$583.00	\$1,166.00	\$255.00	\$510.00	\$3,470.00	\$6,940.00
ELEC	TRICAL / STREET LIGHTING								
A26	Furnish and Install 2" PVC Electrical Conduit	3200	LF	\$17.88	\$57,216.00	\$13.25	\$42,400.00	\$17.50	\$56,000.00
A27	Furnish and Install J Rated Boxes	11	EA	\$1,305.20	\$14,357.20	\$1,600.00	\$17,600.00	\$1,575.00	\$17,325.00
A28	Furnish and Install Street Lights and Base	10	EA	\$8,038.00	\$80,380.00	\$7,685.00	\$76,850.00	\$7,300.00	\$73,000.00
SUB TOTAL - BID SCHEDULE "A"			ULE "A"	\$1,607,229.88		\$1,608,950.00		\$1,957,472.50	
Comments			Comments	Contract Bid Pr favor of u					

	N								
Item	Description	Bid	Unit	Broken Arrow		Granite		Condie	
No.		Quantity		Unit Price	Total	Unit Price	Total	Unit Price	Total
BID S	CHEDULE "B" - TRAIL AND RETAININ	G WALL							
GENE	RAL								
B1	Mobilization and SWPP Plan	1	LS	\$17,488.00	\$17,488.00	\$1,545.00	\$1,545.00	\$100,000.00	\$100,000.00
B2	Construction Layout	1	LS	\$1,800.00	\$1,800.00	\$3,100.00	\$3,100.00	\$19,000.00	\$19,000.00
TRAIL						2			
B3	Furnish and Install New 3" Asphalt Pavement and 6" Base	26000	SF	\$4.81	\$125,060.00	\$5.70	\$148,200.00	\$3.78	\$98,280.00
B4	Furnish and Install New 12" Wide Crushed Concrete Edge	3100	LF	\$6.70	\$20,770.00	\$11.60	\$35,960.00	\$8.10	\$25,110.00
RETA	NING WALL								
B5	Furnish and Install New Solid Concrete Block Retaining Wall, Complete	4600	SF	\$36.00	\$165,600.00	\$43.00	\$197,800.00	\$80.00	\$368,000.00
SUB TOTAL - BID SCHEDULE "B"		\$330,718.00		\$386,605.00		\$610,390.00			
4'	4' x 2' x 2' Adjusted Price per square foot of wall			\$32.76		\$75.55		\$69.20	
	Comments						-		4